ADVERB CLAUSE OF REASON L

Name: Class:

Choose the word or phrase which best completes each sentence.

1. John visited his friend ..................ocel they needed to discuss their homework.

A. because B. because of C.dueto D. owing to
2 John visited his friend ..................... their homework assignment.

A. because B. because of C. since D. as
3 smranenss computers were stolen from the lab, the police questioned students.

A. Since B. For C.As D. All are correct
4. The police questioned students .................... the thief.

A. because B. due to C. owing D. since
S — her good work, Melissa got the job.

A. Because B. Since C. As D. Thanks to
6. Melissa got the job ............. she had excellent grades and participated in many activities.

A. because of B. since C. due to D. owing to
T e John told the truth, he was not arrested.

A. Thanks to B. Now that C. Because of D. All are correct
8. i telling the truth, John was not arrested.

A. Seeing B. Seeing as C. Seeing that D. In view of
. e you have passed your driving test, you can drive on your own car.

A. Because of B. Now that C. Given that D.B&C
10.You can drive on your OWnN Car NOW ...................... you have passed the driving test.

A. as B. because of C. thanks to D. due to

Find and correct the mistake.

1. The reason for she doesn’t have many friends is that she’s rude and unpleasant.

A B C o

. | want to be ready because of they may need a new goalkeeper.

A B C D

Now that | had spent all my money, so | couldn't go to the concert .
A B C D

. The design was changed purely for reasons of safely.

A B c B s
Tim didn't feel well due for the fact that he had eaten 15 ice creams.
A B C B s

Insomuch as they are friends, we can sit them together
A B C D
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7. | stayed at home and had a rest in account of feeling really tired.

A B C D
8. What with the weather is bad, | haven't been out for weeks.
A B Cc D

9. | was late for work as there’s too many traffic on the road.

A B Cc B ke
10.— Why didn't you understand the lesson? — Since | hadn't done my homework.

A B C D

1L Read the passage and choose the best option.
Every year thousands of people travel to Britain (1) .............. improve their standard of English.
For many, (2) ............... , this can be a painful experience (3) ............... the fact that it involves

attending a strange school, staying in sometimes unpleasant accommodation and living in an
unfamiliar culture. One (4) ............... to these problems is the Homestay method. With this,
students are each assigned a teacher suited to their language requirements and interests. (5)
............... giving individual tuition, the teacher provides the students (6) ........... information about
what activities are available locally and take them on trips. Students get between ten or twenty
hours of tuition a week and are also expected to join in the family's daily activities. The students
speak English at all times. (7) ........... they can learn how to use the language in everyday
situations. Homestay programes usually (8) ............. for up to four weeks. (9) ............. costs are
higher than of regular language schools, students can feel (10) ............. that they will be

receiving top-class language teaching in a safe and pleasant environment.

1. A.in order to B. in order that C. so that D.soas

2. A but B. however C. because D. though

3. A.inorder to B. with a view to C.dueto D.soas to

4. A. answer B. requirement C. reaction D. argument

5. A. As long as B. As soon as C. As much as D. As well as

6. A.in B. with C. for D. of

7.A.Then B. Therefore C. So D. So that

8. A. remain B. stay C. pass D. last

9. A. Although B. Despite C. Seeing as D. Because of

10. A. confidence B. confident C. more confident D. confidently
----mmmmmmmeme - THE END------- -
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